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OZH=H 2 SNSOIHIE 15,000,000& 15,000
ANZ HE2E H=#HAHESE25HH) 222,000 222,000 0
307 GI12+01 & 222,000 222,000 0
04 CIZHEHALAIRE E & 222,000 222,000 0
OANZ HEE3 =8 (E4=235HA)
222,000,000& 222,000
SHHMMH=MEE 29 235,100 207,800 27,300
307 eI2toI A 235,100 160,800 74,300
05 RIZt2( & =3 235,100 160,800 74,300
OSHI MMM =NEE I 234l
165,100, 000& 165, 100
OSHIHMM=MEE 2= At
70,000, 000& 70,000
MEetd 29 58,361 43,400 14,961
307 2IZ2t0I 58,361 43,400 14,961
02 QIZHAAAHER 58,361 37,400 20,961
Os0IdAE WELFAHYH 23
58,361,000 58,361
M= elZet &5 4,959,922 4,288,524 671,398
= 10,080
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== 36,548
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HNEXHE 4 2,074,358 1,968,782 105,576
AE 29 1,738,358 1,688,782 49,576
201 Bt | 37,780 32,780 5,000
01 At 22IYI 500 500 0
Oget+=2d| 500,000 500
2 s&2Z | 37,280 32,280 5,000
032323 € A 2,880
=JbAH| 50,000& = 128 600
-oIHY & AHOoIE AMEE  120,000& * 12 1,440
-HIe= 70,000& « 128 840
Oalge =4 2 I A2
10,000, 000& 10,000
O&YE =a HE K20 22,000,000& 22,000
QadE =4 ROIBLIAIAE
200,000& « 12 2,400
301 et A= 1,700,578 1,652,002 48,576
Ni=sHd - 2SRSE2a3 1,700,578 1,652,002 48,576
O4&gE A AIIREH] 20,000,0008 * 38 60,000
Oals a3 4,000,000& = 109 40,000
OR4&XL Ao Xzl 4,000,000& * 3& 12,000
O+ S=HI 2,750,000& * 3% 8,250
OJIEt 2Zb| 500,000& = 38 1,500
Olizlda Loz
4,000,000& * 6OHUHZ * 3 72,000
O83E 22 541,436
45 =0 3,786,000 * 1 ~ 12& 45,432
-~ 20 3,500,000& * 8Y * 12& 336,000
-MSIEE JI2ARE=2 381,432,000& * 10% 38,144
-z =& &b
90,000& + 9 * 10& * 53] 40,500
-Il=H & 274l 650,000& » 99 * 23| 11,700
-MXed g=hl
90,000& » 9 = 10 * 23l 16,200
-= &l 450,000& * 99 » 12& 48,600
arasl 1,500& = 9% » 30 = 12& 4,860
O=s4E 29 481,696
-Z4=s 20 3,786,000& * 194 » 12& 45,432
a2 =0 3,500,000& * 78 » 12& 294,000
-AMEIEE JIARE S 339,432,0008 * 10% 33,944
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90,000& » 8% * 102 * 53 36,000
-I=H % 83H 650,008 * 8% + 23 10,400
-HAES By
90,000& = 8% » 10 * 23] 14,400
-= &l 450,000& » 8% * 128 43,200
—2HAlH| 1,500& = 89 = 302 » 128 4,320
OA0I28 29Z 483,696
-4 =0 3,786,000& » 1% » 128 45,432
- =0 3,500,000& » 7H » 128 294,000
-AMEIEE J|2REZa 339,432,000& * 10% 33,944
-3 &2
90,000& » 8% * 10 * 53] 36,000
=4l 2 24l 400,000& = 8H * 23| 6,400
-HAEd g=l
90,000& » 8% * 10 * 23| 14,400
-= &l 450,000& » 8 « 12& 43,200
—2HAlH| 1,5008 » 8% * 302 * 12& 4,320
-SHIRE ¥ AREH] 6,000, 000& 6,000
s SH(HS3) 336,000 280,000 56,000
301 get2 4= 336,000 280,000 56,000
o=t - 2s2SE4=3 336,000 280,000 56,000
O+ 2&X& 64,500, 000& 64,500
O+ SN 116,500, 000& 116,500
O 2= 28 4 155,000, 000& 155,000
MEHE WS 746,253 559, 142 187,111
= 10,080
| 270,697
== 36,548
i 428,928
MBS ANE S (MSIAHA)(LE MEHYS 199,434 134,040 65,394
X=X+ BHXI)
J| 95,517
= 2,520
iy 101,397
307 e12+01 A 199,434 134,040 65,39%
J| 95,517
= 2,520
= 101,397
02 CIZtAAAEE X 199,434 134,040 65,39
Oget Mt S XX B X 199,434,000& 199,434
J| 95,517
< 2,520
i 101,397
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M 2EED
X HE oZet #S
B dEds A (EEREED
. ‘uk‘. ﬁiﬂ C}%(ijjﬂ) HI”AP@ ﬁ,,,;,g ’ }o“ HET .%DP
BERAY = el | s 01|ﬁ—: Ol AFoH : s
MM STR (AR AMEIA)(HEA HLH 170,944 134,040 36,904
HESHSXEZA BRI
| 81,872
= 2,160
= 86,912
307 e1Ztol A 170,944 134,040 36,904
Il 81,872
= 2,160
= 86,912
02 RIZHF A AHE R 170,944 134,040 36,904
Ooo2d HEMSX A Xl 170,944,000 170,944
| 81,872
= 2,160
= 86,912
HENSDAE2Z 41,000 41,000 0
307 @I2+0| & 41,000 41,000 0
02 DIt F A E R 41,000 41,000 0
OdgHsEnsy 24 41,000, 000& 41,000
dH=EE2 0 10,000 10,000 0
307 QI2t0| & 10,000 10,000 0
02 QIHE A EXR 10,000 10,000 0
Odex=s 228 29 10,000, 000& 10,000
SE==018 29 32,291 34,136 21,845
101 el24d] 15,551 14,596 955
04 JI12ZtMZ2 2 RS2+ 15,551 14,596 955
OS4EEs018 LAANSE 2=2Y 9,727
=0 66,8003 » 5& » 282 9,352
-ABIEE D 2ARE 3 9,352,000& = 4% 375
OS4dEs01d 857223 ARY 5,824
-=20 100,000& = 2 = 28¢ 5,600
-MNEIEE JI2ARES 5,600,000& * 4% 224
201 B2 A 13,740 13,740 0
01 At 22/l 2,740 2,740 0
OS4Es018 SSHE &X 400,000 400
OSdEs018 A=4E 7Y 800,000& 800
Osd=2=018 S22 =4l
8,000& * 4 » 241 » 10 640
OSdE=s018 oY s+ 2 822
500,000 500
OS4dE=s018 #3435 S 223 78
400, 000& 400
02 2E22l 11,000 11,000 0
O=32= % HMA 8,000
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EM: 23220

HE: M omp =E
N CrERE
7 T T e
=L Al 5= | oo Gam HDs2
NSNS HaHy e 3,000,000 3.000] =
== 5,000,000 5,000
OZ2=01& A& SX=22) 3,000,000 3,000
405 KHAFE =S HI 3,000 5,800 A2,800
01 ML ESZHSH| 3,000 5,800 2,800
ONSATEAI| Do 3,000,0008 * 10} 3,000
AEX2AL 0|2d XA 58,580 58,566 14
Il 41,008
= 8,787
= 8,787
301 LBt A= 58,580 58,566 14
J| 41,006
= 8,787
= 8,787
RS E 58,580 58,566 14
OAZ=2Z 0|23 XH 58,580,000& 58,580
J| 41,006
= 8,787
= 8,787
oI AZ=2AL o|l2d A 14,400 0 14,400
= 10,080
o= 2,160
2 2,160
301 LEE A 14,400 0 14,400
= 10,080
= 2,160
= 2,160
LS E 14,400 0 14,400
OROIATZ 0|82 X 14,400,0008 14,400
= 10,080
= 2,180
2 2,160
oo =243 A& 104,604 80,424 24,180
J| 52,302
< 20,921
2 31,381
307 2I2t0| ™ 104,604 80,424 24,180
J| 52,302
o= 20,921
= 31,381
02 QIZ2FEAAIE E X 104,604 80,424 24,180
OROHOl MBHSKSK BIX 104,604,000 104,604
J| 52,302
o= 20,921
= 31,381
x4 2)|F RY 15,000 30,000 A 15,000
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2AM: B2
d3: Ms od=Zet =3
R dEHE dE (B2 & &)
' _‘ = - oy ’
S -3 umn HENS - B 42 | oge | duz D32
402 2IZ2HAHE20I A 15,000 30,000 A15,000
01 2T EAMLEER (M) 15,000 30,000 £15,000
Os=28 8J17 2¢ 15,000
-4 700,000& = 5% 3,500
—GHEHE 9,000,000& * 1& 9,000
-HHERIE OA 2,500,000& = 1CH 2,500
2019 S HFANSUHE 100,000 0 100,000
307 giz2tol 100,000 0 100,000
02 22t AAMHEX 100,000 0 100,000
02019 S4B HAMSUE
100,000, 000& 100,000
HEUs 2 2,139,311 1,760,600 378,711
H=dA & H=ss 29 521,311 363,600 157,711
201 €erE 4 6,250 6,250 0
01 At &2l ] 6,250 6,250 0
OLE HSHAM ER 49 1,500,000% 1,500
OZE MS-AL &I M= 1,000, 000& 1,000
Od=lUzl & AN S2X 4
1,800,000& 1,800
OMeDI=2F FHI(504) 1,0008 = 1,50004 1,500
O2x=2% 0|82 82 Y A
450,000 450
202 ¢4l 12,840 12,840 0
01 S LHO b 12,840 12,840 0
OMEdg €258 0¢H 7,840,000 7,840
Od= OItE el 2258 Ol
1,500, 000& 1,500
Od=Hd & Tz EFFT Ol
3,500,000& 3,500
307 212401 A 496,721 344,510 152,211
02 Bl A AIHE X 180,868 53,200 127,668
OS4dz =& =M f3& 18,000,000 18,000
OMEMEX = S A
130,000& = 17& = 122 26,520
OdEH=XNETX W=l
100,000& = 17& = 23] 3,400
OdEN=AZA =280l
150,000& * 17 « 122 30,600
OMSHSAEA SEFItH
2,000,000& * 60% » 17H = 23 40,800
OMEHENTI Al2QeF
14,3503 = 20A12F « 179 » 12& 58,548
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2A: S22

M H=s oZet &=
ool ASHE 2 el Hg)
SN -FE.B9(s0)) AeAe -Bas | pee | DRE =2
OMEN=ACH o24g | ’
0,000& » 5% » 12€ 3,000
03 IZtHMBEESHHIER 315,853 291,310 24,543
OS24=2M=Es &% 315,853
“MR=HE 3,900,000 * 12& 46,800
~2ABHR (623 HSR) 3,364,8009 * 2% * 12& 80,756
-ABR(72UR) 2,762,920€ * 19 * 12¢& 33,156
~UER (92U L) 1,733,490 » 19 « 128 20,802
= 1,582,000& * 3% * 23| 9,492
s 240,000& » 12& 2,880
- HZAY| 130,000& * 49 * 12& 6,240
-HEZOHH| 6,735,500& * 23| 13,472
~HOE AtH| 2,473,000 2,473
-N2tel =g 1,000,000& * 12& 12,000
=== ge ] 6,775,000& 6,775
-AHEEH RS 285,600 * 29 * 43| 2,285
-DEHEFFY S 30,679,610& 30,680
-AMR= 29I 48,042,000& 48,042
402 It A= 01 ™ 5,500 0 5,500
01 RIZ2EXF = AL B (KM TH ) 5,500 0 5,500
OMSEI F¢ 5,500
~HEH(ZUEZE) 1,500,000& = 3CH 4,500
-2 Af 300,000& * 2J4 600
-o| &t 200,000& = 204 400
M 133l D12 OtetE S 244,000 300,000 256,000
307 QIZt0[ ™ 244,000 300,000 256,000
02 DIt AANEEX 54,000 54,000 0
OBII2 DI2tE e =3 (s8)
17,000, 000& 17,000
OBz CletElE sag 72
37,000,000& 37,000
04 QIZHSHALAIRE E X 190,000 246,000 256,000
OHMI133] BHII2 OletEUE A
190,000, 000& 190,000
A= NEHUE 85,000 85,000 0
307 SIZ2t01 ™ 85,000 85,000 0
02 QIZHBAANSEXR 85,000 85,000 0
02019 SHClAH 8= XHEHHE
85,000,000 85,000
=2 MESUE 272,000 272,000 0
307 212+01 ™ 272,000 272,000 0
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A 2aE2D

M S oDp H5
cHol: HS0HE =Y (sl ma)
SN - EE @Jn mwMg g=  olao e BIRE2
T CEE: ' 272,000 ~ 272,000 0
OM363 20IH= 03 272,000,002 272,000
S0 A= 136,000 112,000 24,000
307 212H0I & 136,000 112,000 24,000
2 LA BANS ST 136,000 112,000 24,000
OS® HMSHSI(8H S2) 136,000,008 136,000
ss9 MEHSHE N 82,000 74,000 8,000
307 21240/ & 82,000 74,000 8,000
R CEES 82,000 74,000 8,000
OZ=B MR Ha 82,000, 0002 82,000
SHZ MEHSH 25,000 25,000 0
307 212H0| & 25,000 25,000 0
2SI ANAS DL 25,000 25,000 0
OS&m MBUSHE HE 25,000,008 25,000
cerel NS0 82,000 32,000 50,000
307 91240/ & 82,000 32,000 50,000
REErNCEES 82,000 32,000 50,000
Ol MSHa KA 82,000,002 82,000
HEHE 20t 431,000 405,000 26,000
307 212H0/ & 431,000 405,000 26,000
@ ONBANG DT 431,000 405,000 26,000
Xls8sl ESTOIHSCHE &It
190,000, 0002 190,000
OAMZCHE SFORFECHS &I 30,000,008 30,000
OE=ZHANSHE &It 40,000,002 40,000
OZONAMSHS HE L FIb 15,000,000 15,000
ON53l S4= 4ol HMSCHE 20,000,008 20,000
OF0fel HSDA AL 0,000,002 0,000
SLECER S 0,000, 0002 0,000
oNEZ Mens & 5,000, 0002 5,000
OE=uMENSHE &) 31,000, 0002 31,000
OE=MBSHE &I} 60,000, 0002 60,000
O 0/241 MEBHSHS 2t 20,000,002 20,000
C2a M2AATENUS 40,000 30,000 10,000
307 21240/ & 40,000 30,000 10,000
RPN CES 20,000 30,000 10,000
OX43] SHDA CI2& H2ATE NS
oHz) 40,000, 0002 40,000
HRMEHSHES 4,000 0 4,000
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A 2SEE0
dM: M= o=t &5
ool NSl 29 (cto Mg
SN HE.G(SH) - NBAY - B2 . yene 8 GRS Ho=z
307 212t01 ™ 4,000 0 4,000
02 BIZFBAAIE B X 4,000 0 4,000
Od=zMEHNSUHEHE izl 4,000,000& 4,000
ZANEUZ 15,000 0 15,000
307 212+0| ™ 15,000 0 15,000
02 QIZtBAAEE X 15,000 0 15,000
O24Z2=t1 EMMNSE JHE 15,000,000 15,000
d= 532 0FRU S 30,000 40,000 A 10,000
307 CI2t0| ™ 30,000 40,000 210,000
02 QIZtAAAEE R 30,000 40,000 210,000
O = Atglol OFrCHEl M= 30,000,000& 30,000
M= 532 HILIACSE 22,000 22,000 0
307 QI2H0| ™ 22,000 22,000 0
02 QIZHBAAMYEEX 22,000 22,000 0
OS24zt 8= S39! HLUAUSE Mz
22,000,000& 22,000
d=0UE 2K 150,000 0 150,000
307 QIZ2t01 & 150,000 0 150,000
02 Q2B A AIAE X 150,000 0 150,000
Od=03 & 50,000,000& = 278 CH3l 100,000
O=2s2)| d=2FF2UsE SX
50,000,000& = 10§ CHSJ 50,000
AADICINIIZE 257,762 228,8% 28,868
ZHIADICHE 2H= H& IS 257,762 228,894 28,868
SADICIDIZE 257,762 228,894 28,868
201 et F Y| 215,562 193,694 21,868
01 AFR22lYl 183,070 173,070 10,000
OS24z 24 =20 H&E(IH,53=20)
1,800,000& * 6& 10,800
(OF-~ = 450,000& * 12& 5,400
O=8g 300,000& = 128 3,600
O&tg 900,000 * 12& 10,800
OCGAEt = 300,000& = 12& 3,600
OelZHZ 900,000& * 128 10,800
OAMEZGE 22 = 1,800, 000& 1,800
OZEL 1EAEE 550,000 550
OYsE HED| 2ZEY N E10¢0!
7,000,000& 7,000
OZF=EE H=+2H| 5,320
~2A XX 1,000& = 6004 600
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2A: 2220
I3 QA0ICI0|=
e Zdg40I00s 2E = Mz JI=s2e (&2 &)
L e e e =
,,,,,,,,,,,, Lin s s ey : ‘ i . o ..‘:‘:: S o | .
RSP 7,000& * 20094 1,400
“AMFEIQISHR] 2 23 120,000& + 128 1,440
- - 8% AANE A 7,000& = 2000H 1,400
“AE E2tE dY 20,0003 = 2404 480
Oo3oI2es HHYI 500,000& * 243 12,000
OzZdEEZ3d 582 2,200,000& = 12& 26,400
OZFsE A% HEHI 10,000,000& = 23] 20,000
OZEEE 0DW &= ME 20,000,000 20,000
OZHEE WA Sa=s M
10,000, 000& 10,000
OzZde:E € ISR A 2lsts
8,100,000& 8,100
=3tz 2= 4 CRUE MA
20,000, 000& 20,000
OgsdH 223 72¢ 6,900
-HICI23t0c BiE el 270,000& * 54 1,350
—-ENGZtOIet BHEfel 700,000 * 54 3,500
-240012 AHE X 5,000& * 504 250
Hool 22l It 2L 900,000& * 24 1,800
02 3323l 32,492 20,624 11,868
Oolgulers RX2a6l(SZADB)
7,000,000& 7,000
OeleHUESMHYE FA 2+t 12,000, 000& 12,000
OAMZDB AIAE X244l 3,500,000& 3,500
O2HY 3ld 0|82 66,0008 » 123 792
OZ&0ILIoEHl R 8,000
QIHU2I LS (2 4)EY| 5,000,000& 5,000
-21oa & FASE 3,000,000& 3,000
OEE E8& 100,000& + 123 1,200
202 44l 10,200 10,200 0
01 =LA HI 10,200 10,200 0
Og 4000 R A4l 10,200, 000& 10,200
405 THAHFH SHI 32,000 25,000 7,000
01 TR ESFEHI 32,000 25,000 7,000
OZ &AL SEAAY 2L DN 25,000,000& 25,000
OLs=E Jtbict 3 7,000,000&  10CH 7,000
Eeil=32 243t 1,100,445 917,370 183,075
2a0sALRe L X8 1,100,445 917,370 183,075
Stz 232l 1,100,445 917,370 183,075
101 el 24d| 59,320 53,497 5,823
04 JItHZ2RESES 59,320 53,497 5,823
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SM: 2529
BH: 20E2 2L
Crol: SHMEALBE 2 KA (cre:zgl)
( 33) - muMa- %‘? e BES Tjme=r]
o @N&gﬁ =g T
=04 66,8002 » 22 » 2402 32,064
ABISE JIZESD 32,064,002 * 11% 3,508
OZol, AAl- CIREAl OHE B2 (D)2 X8 )0l
sof 5,932
=1 66,8002 * 4% » 202 5,344
ASIEE JIBEED 5,344,008 « 11% 588
OZol 9 FA ASUE o=y 17,79
=0 66,8002 » 124 2402 16,082
ASIEE JIBEGD 16,082,008 * 11% 1,764
201 LEre bl 794,945 802,233 A7,288
YRR 115,290 148,510 ~33,220
OS2 2% EHS HA 40,640
e mao A
500,0002 * 1944 143 7,000
EE om0 A
200,002 » 144 » 128 2,400
A8 BAO MR 50,0008 « OHA « 263 1,700
mAE WA 1,1002 * 30000 « 143] 4,620
PR 30,0008 * 244 = 143 840
2B ME 3008 * 2,00008 * 143 8,400
B U QAR =S HE
20021 * B00DH * 143] 1,680
_m2om oBE M
1,000 * 2,000 * 23] 4,000
o127 2 25,0008 * 3% * 43 300
OS2 492 R (R0h= )
6,000,000 * {4 6,000
ORMUAE HIX R2%E 150,008 * 43] 600
OBABE (2, ZeH Mal2s =)
200,000 » 12 2,400
Omol 9 Asaaz 700,000 * 53] 3,500
OSIMBE U MD2EE 100,008 * 122 1,200
O3 o waH 22
12,0002 * 28M 4 * 122 4,032
O24uHl 2FUA 242
200,002 * 244 400
OLPG SHABAIE EIIHMN +22
200,000 * 23] 400
ONAE HA 242 770,000 * 23] 1,540
OAN&EES HIIEZ 242 1,300,008 » 23] 2,600
OFIINE Bz 442 3,300,008 * 23] 6,600
OZolHl ZH 442 150,000,008 * 7.5% 1,250
O2J| BB 242 484,008 » 122 5,808
O=ARX 7 250008 « 08A = 33 750
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SN BE - S9(S]) - KISAY - BaES yas | G2 HlmE2
SEESIEEE 37,0008 * 50 » 128 ~ 2.220
O¥EEH 222 (8, EH) 7

300,000& * 1CH = 23] 600
O=EAD Xz 300,000& = 100 = 12& 3,600
OSYyed Xy o Uy
250,000& * 79 * 23] 3,500
OLZAE HH2el =2 445,0008 + 128 5,340
O2I¥ =l
8,000 * 7F = 10 = 128 6,720
OR4d0t0128 AKX 2 2,500& * 3004 750
O3¢g BGM 2¢et £ 01T P
35,000& » 20 700
O34 2LIHE 50,000& * 2% « 12& 1,200
O&HI0IX |X&el ==2 220,000& » 12& 2,640
02 23234l 237,655 231,723 5,932
OA&EHI =Xl 90,000
-2 22 2,000,000& = 33 6,000
-SHZU JIHE & A8 HA
2,000,000& = 23] 4,000
-AE | X2eldl(7,289.42m) 15,000,000 15,000
- RUHAE |FAZL(SE, 2, 01H)
15,000,000 15,000
-SUINHAEXAE S22 7,000,000& 7,000
- EDIHAE FAlI2e 10,000,000 10,000
“RIMAIE (D] L HG) sR22
3,000,000& 3,000
-MIIANE |2l 15,000, 000& 15,000
-2 YAlE |2 5,000,000& 5,000
“HHYAIE M2 2 FbI 10,000, 000 10,000
OIlot: £t 150,000& * 2CH * 63| 1,800
O N2 MEZ
20,0002 » 50021 » 23| * 3% 600
O3323 83,400
-8 3t 150,000& * 12& 1,800
-&D] 6,500,000& = 12& 78,000
-doteE 300,000& * 12& 3,600
OREYSNBE 11,000& * 208 = 128 264
O HYAES 30,000& * 23/ » 12& 720
OJtAtHa #HYBEZ 100,000& * 13 100
Og3sld |2 3,630
-Mo|orE e Kt 100,000& * 18] 100
- gotd e &t 50,000& * 18] 50
-2UHu=xzel 240,000 * 24 480
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. o qo'”——- L i “,“; - ’bon :I._;l't—j i
SR E230 =52 HAES
3,000,000& * 13| 3,000
Od Z | 43,901
g JpATY
1,600& * 45kg * BAI2F » 100 43,200
-HHIRSHI 701
LU= S) 1,908 » 304 * 53 293
AR (HlaeEI])
170,000& * 0.2A12F » 12& 408
Od#EFEH "AEZaH] 1,240
~CHIIsS AR D1 1,300,000& * 12CH * 5% 780
-IElf 4,000,000& * 2CH = 2% 160
= A 15,000,000 * 1CH * 2% 300
OZgil=3 & RFHl L CCTV H2EY
1,000,000& = 12& 12,000
03 AL E HI 442,000 422,000 20,000
OJIg s MAl & Fead 442,000
-J1E83 & HAl 400,000, 000& 400,000
-FEAad 3,500,000& * 123 42,000
202 048] 13,440 13,440 0
01 2L HI 13,440 13,440 0
Oflssl2 22| FR0oH| 13,440, 000& 13,440
207 AN 5,000 5,000 0
02 XA 2| 5,000 5,000 0
OzZsll=s2 SHOIX & 824 AEAY
5,000,000& 5,000
301 et A= 13,440 13,200 240
12 JEt2 A= 13,440 13,200 240
OXESAL AHl2a(Z44)
,000& » 5% » 50 2,000
OZArS (e, 5, A=)
110,000 * 42 %t » 26= 11,440
401 Al & HI L S CHEI 214,300 30,000 184,300
01 A& B 214,300 30,000 184,300
O=Zstl=s2 H3HE XA LEDZ2Y Wi =
Ab 90,000,000& * 14| 90,000
OFstli=z2t U TS A
6,000,000 * 14 6,000
O3tz 2 sS4 L3 A
118,300,000& * 14 118,300
HY2HAH (2= D) 31,827 36,857 25,030
gl (Ests2) 31,827 36,857 25,030
JlE2&yl 31,827 36,857 25,030




- 423 -

2N 2E2E
N dY2HEH(SsE20)
o Jl2dy|(2stEsEn) (A2 AH)
SA-EM- () MEAR - BAS | ey SaE RS2
201 LEt2AH| 25,827 30,257 24,430
01 At 22[ 4| 23,500 27,770 24,270
Ogt+2H| 5,800,000& 5,800
O= &l 4,660,000 4,660
O= A ARtz 440,000& = 10 ~ 128 5,280
O8I dxtz 50,000& = 1CH » 12& 600
O#FHEH A2 74| 7,160
- Zelf 4,400
- EY 440,000 = 1CH * 48 * 23| 3,520
== 440,000 = 1CH * 23] 880
-etT el 200,000& = 60 = 23] 2,400
—-FAX 120,000& = 104 = 33 360
02 323l 2,327 2,487 A 160
Od#FEH FAZ2+H| 2,327
-CHIIsAFR1D] 1,300,000& * 27CH * 5% 1,755
-ZelH 4,000,000& * 7CH * 2% 560
~FAX 600,000& * 1CH » 2% 12
202 (4l 2,400 2,400 0
01 = LHOHI 2,400 2,400 0
O30 FRFA ol 2,400,000 2,400
208 ¥R =&l 3,600 4,200 A600
04 2EN2EHRFALI 3,600 4,200 A600
ORAN2IGURFAY| 300,000& * 128 3,600




